HENEREREES i
SH4EFE11H2H 0K)

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &

BEERXFRE 17€ |TJU 120.8 333 20

_~ 34.8 280 196

HFHS 48.4 50 20

>0OX/)VUl 60.2 1,969 1,400

L ADE 90.7 1,589 750

AXF 708.2 845 369

SFOA 474.8 3,300 300

foRiE 36% >oA 4,941.0 1,477 400

MUt 5% Ho> 80.9 1,289 719

RAXF 200.3 750 300

BT 6% Ry FHA 1,862.1 600 300

o 23€ EXTVYIRS 213.8 280 100
AitHE 8,836.0




(B : kg)
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pHE i miEH B = = 1B Z 1B " =
EERFE 17% |3 26.9 1,200 200
RXF 127.1 550 400
LB 19% =k 693.8 4,500 2,000
MU 5% RZF 154.5 580 400
g0 29% ESX 237.4 2,500 1,300
he 23%& <453 601.6 2,000 1,100
EEE 1% ESX 20.4 1,800 1,000
RZF 21.0 550 500
aitiE 1,882.7




